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B2 D3 @5 ®7 @@ Lokid 100DD14BB®D18 HHLLDOB®4 ®6 DO®9 HAFAT(ITNIISTIILEE
Bz K 4 BLASo¢|LoMIE | B+ |GROSS| HDCP | NET HE IE{iz KE 4 5LA3o¢|LEMmiE | L4 |GROSS| HDCP | NET WHE
s | EE S 45 * 40 85| 15.6| 69.4 2% |BH &k 54 * 48 102| 27.6/ 74.4
R EBE R * 47| 39 86| 15.6/ 70.4 27 |%@A SF * 43| 45 88| 132 74.8

3 Bl Hx * 47| 49| 96| 252 70.8 28 |5H A * 44 50( 94| 19.2) 748

4 |FIEp HE 4 * 35 76 48 71.2 29 |¥BiT BE— 44 43 87 120 750

5 |t # * 46) 41| 87| 156 71.4 30 |EE * 53| 46| 99| 24.0) 75.0/%

6 |FI xH x 42| 44| 86| 14.4| 716 31 (B TR 47 * 52| 99| 240 75.0

7 |fE B * 48/ 43| 91| 19.2) 71.8 32 | KA &k 49| 48[ 97| 21.6| 754

8 |INgE FHik 48 * 49 97| 25.2| 71.8 33 |4 85 46 57| 103| 27.6| 75.4

9 |[NH EA * 43| 41| 84| 12,0 720 3 |t %= 38 40 78 24| 756

10 [(dbE FF 48 x 42| 90| 18.0 72.0 35 |LHE# 48 52 100| 24.0( 76.0[>
"o\ 8 = 43| 47] 90| 18.0[ 72.0 36 [l Eth 46| 47| 93| 16.8 76.2

12 |KFE #— * 45 44| 89| 16.8) 72.2 37 |EEK E— 44 49 93 168| 76.2

13 (5 46 * 42| 88| 15.6| 72.4 38 |HE =88 42| 42| 84| 7.2 768

14 | B * 46| 47| 93 204| 726 39 |E+E 9 45 45 90| 132 76.8

15 |HB HEA * 45 40 85 12,0/ 73.0 40 [EE B 46| 42| 88 108 77.2|%

16 |[#EE =& * 41| 371 78 48| 732 4 |BE EiEx 49 45/ 94| 16.8) 77.2

17 |Ek =% * 40| 43 83 9.6| 734 42 |BiZ BEEF 54/ 57| 111| 33.6| 77.4 %
18 |{EmE = 48 * 41 89| 156 73.4 43 |/Nk IEBR 50 47| 97/ 19.2) 77.8

19 |Bh &E— 43 * 44 87| 13.2] 738 44 |PE B 54 49) 103 25.2| 77.8

20 |[{ERK R 51 * 48 99| 252( 73.8 45 |EaE EA 48| 52| 100| 21.6| 78.4 %

21 |lug F= * 44/ 42| 86| 12.0) 74.0 46 |n —E 52| 53 105| 26.4 78.6

22 |ZEME * 42| 44| 86| 12.0 74.0 47 |kH-B 54/ 47| 101| 21.6| 79.4 BB
23 (BT #= * 40| 39| 79| 48 742 48 | K7 BRE 56/ 55 111| 28.8 32.2@{]’ BM
24 |lUE BB * 43 41 84| 96| 744

25 (ML AME 48 * 48 96| 21.6| 74.4
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5521 23 @DB®6 78 Q@ Lot @11@13@15161718 HALPLD2 3 @5 6 D8 9 FAFRAF4TLIISTIILE
Bz E £ BuLaaa¢| Lamig [s#L46|GROSS| HDCP | NET %y B E 4 B¢ LanE [BmLelGROSS| HDCP | NET Y
& @ Ea 48 * 42| 90| 24.0| 66.0 26 |ILg F= * 44| 42| 86 9.6 76.4
HEEW TR EX 54 * 48| 102| 36.0| 66.0 21 |BN FH * 42| 44 86| 9.6 76.4

3 |KkH-FB * 54/ 47| 101| 31.2| 69.8 28 | = * 42| 44/ 86 96| 76.4

4 |KHEBET * 56( 54/ 110| 40.0[ 70,0 29 |J# EA * 43| 41| 84 7.2 76.8

5 |JEITIEE= * 44/ 43 87| 16.8 70.2 30 (i % x 46| 41| 87| 96| 77.4

6 |[Bh #&— 43 * 44/ 87| 16.8 70.2 3 | kEA®R » 48| 52| 100| 21.6 78.4

7 |EBHEA * 45 40| 85| 14.4| 706 2 |EX E— * 44| 49 93| 14.4] 78.6

8 |EA F#H 45 * 40| 85| 14.4) 70.6 33 P& EF 54 * 49| 103| 24.0/ 79.0

9 |FEM 1R x 43| 47| 90/ 19.2| 70.8 4 |lLE BB x 43 41| 84 48] 792

10 5B 46 *x 42| 88| 16.8) 71.2 35 |HE FE 48 * 48| 96| 16.8 79.2

1 |h)I] EBth * 46 47| 93| 21.6] 714 36 (B FEEX 49 * 45 04 14.4 796

12 |{EdE * 47| 39 86| 144 71.6 37 |R+E 8 45 * 45 90 9.6 80.4

13 |BATF #= * 400 39| 79| 72 71.8 38 |FEI EE— x 46 470 93| 12.0 81.0

14 |fEIl BX * 48] 43 91/ 192 718 9 |y —E * 52| 53| 105 24.0[ 81.0

15 |8k & 48 * 41 89| 16.8] 72.2 40 |4iE $BE] 46 * 57| 103 21.6| 81.4

16 | KFE #— = 45 44| 89( 16.8 72.2 CYRE: (TR = F 3 * 47 49| 96| 14.4] 816

17 |Ek =K * 40| 43 83 96| 734 42 &Mk B * 53| 46| 99| 16.8 82.2

18 |H% =M x 42| 42| 84| 96| 744 43 |B# 47 * 52 99| 16.8 82.2

19 |[{EAK R 51 x 48 99( 240 75.0 44 (KA #k * 49| 48] 97| 144 826

20 [/MFk IEBA 50 x 47| 97| 21.6 754 45 [BE ik * 46| 42| 88| 24| 856

21 |IEk BE 48 * 49| 97| 2156 754 46 |(&MA SF * 43| 45| 88 24| 856

2 |8 =4 x 41| 371 78| 24| 756 41 |Ei2 BT * 54| 56| 110/ 24.0| 86.0 BB
23 |8t % * 38 40| 78] 24 756 48 |HHE 3 * 44 50 94 48| 892

24 | H= 41 * 35 76/ 00| 76.0

25 ||MaFk EE * 48/ 52| 100 24.0| 76.0




